This book has permission to use the “N&K method of CO.ORS”.
33) Question: Based on the graph below, what is the ratio of cars sold in 2006 to 20147
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For speed, while solving something similar, only THINK the words in blue; WRITE only the words in other CO/.ORS.

Given: 1) The Graph above.
2) Base on the graph, the number of cars sold in 2006 = 5 million.
3) Base on the graph, the number of cars sold in 2014 = 20 million.
Solve: what is the ratio of cars sold in 2006 to 2014?

Road Map of Solution:
Based on the graph above, the ratio of cars sold in 2006 to 2014

_ thenumber of cars sold in 2006

the number of cars sold in 2014
5 million

20 million
5 million

20 mitlion

..... Answer
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